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Spl. 2020
INDUSTRIAL ENGINEERING

Frufia am . fawe) - [fRrha 3 : 70
Time allowed : Three Hours] [Maximum Marks : 70
Pz () FUE I HAGE 8, 997 @ 8 aR & IR G |

Note : Question No. 1 is compulsory, answer any FOUR questions from the remaining.

(ii) F% 597 3 G 47Tl ) FHER T G1 & Ford |
Solve all parts of a question consecutively together.
(iii) FeI Fe7 &) 79 §8 & IRF] Fiord |
Start each question on fresh page.
(iv) @ sTers B 3 g7 B 1R 7 37 srqang & A 8 |

Only English version is valid in case of difference in both the languages.

1. (1) wfrss¥ s w1 TR, 7E 3R e S Shed I faswd, FHEerd

(a) At Freteor (b) ITEETEA

(c) I (d) T

Estimation of type, quantity and quality of future work e.g. sales etc. fall under
(a) Routing (b) Scheduling

(c) Forecasting (d) Follow up

(2) T faig = TTor Rq e weeRTor ST 3w e @
(a) Tasra = aRad=siel @< + fraa @@= + &
(b) Tasra = aftadasie @< + fga @< - @

(c) Tasra = uftadefia @ - froa &= + @™
(d) FHAHE T

Using equation method, Break-even point is calculated as
(a) Sales = Variable expenses + Fixed expenses + Profit
(b) Sales = Variable expenses + Fixed expenses — Profit
(c) Sales = Variable expenses — Fixed expenses + Profit -

(d) None of the above
(1 0f 12) P.T.O.
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3)

Q)

(5)

(6)

@)

ﬁéﬁsﬁwﬁmﬁﬁmwaﬂwﬁ‘a%?

(a) STSITETE THATEH (b) T TR
(c) IfUman T THIEE  (d) IT0E ot
PERT analysis is based on

(a) Optimistic time (b) Pessimistic time

(¢) Most likely time (d) All of the above

e AT T ST ] 7 |

(a) =atwemafead (b) Toramatt & 3oy 9 37d %1999

) TrAisfmafemmm ) e o e

What does a Gantt Chart show ? ;

(a) Individual activities ' (b)  When activities begin and end
(¢) Overlap between activities (d) All of these are correct

= & am arwft o=t & siafa di 2

(a) I (b) = HTA

(c) AR 3T (d) 3T IR

Which of the following is not an inventory ?

(a) Machines (b) Raw material

(¢) Finished products (d) Consumable tools

AT 4 T HTCY & TF IHb VR | 37 doh o 1 T G5 HEAT 2

(a) UAT AT (b) < M aTe GHY

(c) <t H HHY (d) e T

The time period between placing an order and its receipt in stock is known as
(a) Leadtime - (b) Carrying time

(c) Shortage time (d) Overtime

ABC fereetwur a7 srir el faan s 2 2

(a) hifaeh 9y fafy (b) HTRIHH HouThA T GHieT deieh
(c) wmft g (d) IT T

ABC analysis is used in

(a) CPM (b) PERT

(¢) Inventory control (d) All of these
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(8) = FHHd wd Hferes T a9 9T § =fae

(a) s Frdieqon & (b) o9 Frleo

(c) e fadreror (d) 100% e
Low cost, higher volume items require

(a) no inspection (b) little inspection
(c) intensive inspection (d) 100% inspection

©) T % mren T @ Agfeew fmer w@ i agfes fauaw % e fasms W@l

HEATI &
(2) 3= o dimn (b) T o g
© frEmdmE (@) @ fem g

The dividing lines between random and non random deviations from mean of the
distribution are known as

(a) upper control limit (b) lower control limit
(c) control limits (d) two sigma limits
(10) Frelt firan 3 e 3 At Iedl < s s 3 forg I i 3T e i &
(a) X 9N 3R@ (b) R IR@
(c) CIg (d) P3IE
What type of chart will be used to plot the number of defectives in the output of any
process ?
(a) X bar chart (b) R chart
(¢) C chart (d) P chart

(11) Frad®R @ g fafa &g ?

(a) 0% =1 (b)  100% T

(c) A (d) 5%

Which of these is not used in sampling ?

(a) 0% inspection (b) 100% inspection
(¢) Acceptance sampling (d) 5% inspection

P.T.0.
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(12)

(13)

(14)

(15)

1 ey § waifed 8

(a) ITINT 3R U T THT ITI
(b) TG TATH T WHTET ITANT

(c) W HE HT oI

(d) Iwr gt wEifE

Work study consists of

(a) Effective use of plant and equipment
(b) Effective use of human effort

(¢) Evaluation of human work
(d) All of the above

fofa s K s mad w2 .

(a) T — IAFrerE — Wi — Fereptra — qRoTRY — <o — S T
(b) T — ufonia — wite — R — arfiere — e — a9m w@
(c) T - herE - fasfa - sfe - afonfye — wnfie - s @
(d) TS - JrferE — i — famfia — wenfe — ofonfye — s9@ @

' The correct order of procedure in method study is

(a) Select — Record — Examine — Develop — Define — Install — Maintain
(b) Select — Define — Examine — Dé'velop — Define — Install — Maintain
(c) Select — Record — Develop — Examine— Define — Install — Maintain
(d) Select — Record — Examine — Define — Develop — Install — Maintain

SfohaT =TE # sEwwr % fore 3w & o1 aren frg
(@ I (b) i

(©) R d P=

In process chart, the symbol used for storage is
(a) Circle (b) Square
(¢) Arrow (d) Triangle
‘femTer & w@iem ot sl & wfiw T 8
(@ D (b) DE

(c) DA (d) DS

In THERBLIGS, Abbreviation used for Disassemble is
(a D (b) DE

(c) DA (d) DS

1046
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(16)
(a)
(©
A

(a)
(c)

(5 of 12) - 1046
_ wireafmmmm R ais e
ot s - (b) waTE SfsaT FRE
R TR (d) w1 yaTE FRE
is based on film analysis.
SIMO chart (b) Flow process chart
String diagram " (d) Operation flow chart

(17) &3 I B

(@)
(b)
©
(d)

a5 weft H, wa 3 T o B i
I T T
el T B A 1 HSIel g Tt T we

gl % foTe W 7 T HT AR

Time study is

(a)
(b)
(©)
(d)

The appraisal, in terms of time, of the value of work involving human effort
Machine setting time
Time taken by workers to do a job

Method of fixing time for workers

(18) 4 it farftr =1 3w e e

(a)
(b)
(c)

(d)

FeATE % ST I 1 ST T |
ﬂnﬁﬁﬁlﬁﬁaﬁaﬁwmuﬁmwmmﬁﬁl
ﬁémﬁ%ﬁuﬁmﬁ,aﬂmw—mmaﬁmaﬁmﬁﬁmmm%
fore o g farfly =61 ST TE AR |

I ot o

Work sampling is applied for

(@)
(b)
(c)

(d)

Estimation of the percentage utilization of machine tools.
Estimating the percentage of the time consumed by various job activities.

Finding out time standards, specially where the job is not repetitive and where
time study by stop watch method is not possible.

All of the above

P.T.O.
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(19) afE @t wereertor 71 3t 3w, m%m%mmﬁaaa‘rmmw ~

(20)

(21)

Fffe=ama Fgam g
(a) I Ffufa=mg (b) mw&ﬁwl
(© Fiwaffaffmm @) w6 shifem

If all the processing equipment and machines are arranged according to the sequence
of operations of a products the layout is known as

(a)  Product layout (b) Process layout

(¢) Fixed position layout (d) Combination layout
Tt formtor & v srpm a7 st 3fy g 7

(a) IaTg =g (b) sk rfufa=mg

(c) Tivaa fufy sfivfa=mg (d) I iy

In ship manufacturing, the type of layout preferred is

(a)  Product layout (b)  Process layout
(¢) Fixed position layout (d) Combination layout
I 3G g R

(a) ﬁﬁqmﬁmmwswm

(b) %&aw@mﬁ%aﬂaﬁaﬁWMWﬁwml
(c) Tt Feer ot o Yreeforeen wrat et wry

(d) %ﬁﬁﬁﬂﬁﬁaﬁﬁmsﬁr@q%mﬂm
Travel charts provide

(a)  An idea of the flow of materials at various stages

(b) A compact estimate of the handling which must be done between various work
sections.

(c) The information for changes required in rearranging material handling
equipment. ; - '

(d) An approximate time estimate of the handling which must be done at a
particular station,

(22) mmﬁﬁmwmmﬁmmm%

(a) T Fah (b) o

() = ; (d) 3w asft g
Linear programming can be applied successfully to
(a) Chemical factory (b)  Oil factory

(¢) Banks '(d) All of these
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(23) tRah SrorfEm 1 w10 & B
| (a) ) wfusy U wY HgE A =R |
(b) Hﬁqﬁ,mwﬁﬁwwﬁa@m
(c) HTd &3 1 HHT B 1R |
(d) IHrE el

A feasible solution of LPP

(a) Must satisfy all the constraints simultaneously

(b) Need not satisfy all the constraints, only some of them
(c) Must be a corner point of the feasible region

(d) All of the above

(24) Freft e o wrft <) it el | wEl A R ?
(a) WERIE@IAER (b) T i TR B g T |
(c) TERU ST & Fifiw TE H (d) I @t @
Material handling consists of movement of material from

(a) one machine to another (b) one shop to another shop

(c) stores to shop (d) all of the above

(25) s fore geh 1 IR feRa ST 2
@ wERImRIRAREAE (b)) A e
) (a)Td (b)EHl (d) g oft wd

Fork lift truck is used for
(a) lifting and lowering material (b) horizontal transportation

(¢) ~ both (a) and (b) (d) none of the above

P.T.O.
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(26) &l =1 fiemse :

LES ER2]
A, RS A 1. &8s afEe
B. IRFIW 2. dfw 3 FeEiR e

R S 3. &ty ufges

(a) A-2,B-1,C-3 (b) A-1,B-2,C-3
(¢) A-3,B-2,C-1 (d) A-2,B-3,C-1
‘Match the following :

Device Purpose
A.  Overhead crane I Horizontal transportation
B.  Roller conveyor 2.  Horizontal & vertical transportation
‘C.  Belt conveyor 3. Angular transportation
(a) A-2,B-1,C-3 (b) A-1,B-2,C-3
() A-3,B-2,C-1 (@ A-2,B-3Ct

(27)

T HEABTH HUf % STT=ei %1 HRT & FehaT &
() die § ggem

() 3T & ol § fywg

(IID) 3eaTe a1 wfdw 1 I win & seeng
(V) =rht a1 3= somd

(a) e (1) &

(b) (1) 3R (1) =&

(© (D, (), (1) TE (1V) F&

(d) e (IV) &

Obsolescence of a depreciable asset may be caused by
(I)  Technological changes.

(II) Improvement in production method.

(IIT) Change in market demand for the product or service output.
(IV) Legal or other restrictions.

(a)  Only (I) correct

(b) Both (I) and (IT) correct

(c) Al (I), (ID), (I1T) and (IV) correct

(d) Only (IV) correct -
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(28) Uy &1 Ty e o JeiEa 9 #

(a) wedt gmfy (b) I g
(c) g weafa (d) et w=fa
Amortization is referred to writing off

(a) Depleting assets (b) Wasting assets
(c) Intangible asset (d) Fictitious asset

(29) fr=r & @ fopm fafr & ew-=ify @ & @ geusTa St gEE AT i o Sfee i S

27
(a) FEATTEABE (b) u Er fafy
(c) i g e (@) w8

In which method of depreciation equal amount of depreciation is debited to profit &

loss account every year ?
(a) Diminishing balance (b) Straight line method
(¢) Annuity method (d) None of these

(30) W 1 HaeTs &
(2) THRIHH TeATeh Td o MTeifreh!
(b) A TeAHA T USIE ThA1h
(c) YT e Td TETe SeTfirehl
(d) HRIHH ouTH Td THIET qohr 1

The full form of PERT is

(a) Program Evaluation and Rate Technology
(b) Program Evaluation and Robot Technique
(c) Program Evaluation and Robot Technology

(d) Program Evaluation and Review Technique (1x30)

P.T.O.
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p-

(1)

(i)

(111)

(iv)

)

()

(i1)

(i)

(ii) -

(i)

(i)

YT 3R Ifere § 3iex /ard |
Differentiate between Obsolescence and Amortization.
BISfRT 31 FHaET ITHN B F1 SRR ?

What is difference between hoisting and conveying equipment ?

IT1E 3T IeqTeHhal § FHax /a1y |

Differentiate between production and productivity.
ot dt. . A dt.E. AR d. Y aftmnd fafgu |
Write definitions of CPM and PERT. -

T2 g1 TG 6! FHiHFT Faqreu |

What are drawbacks of Gantt’s bar chart ? (2x5)

Sere, e it detent & A1 ffigu | srgaEia qeie w1 @t 3 gaemse |
Write names of techniques for production control. Explain scheduling technique
in brief. '

T wt e § ABC fevetor 1 wmgmsu |
Explain ABC analysis in Inventory Control. (5+5)

wigrw | gt e % yeR gwes |
Explain briefly types of inventories.

Tergtenter 1 a1ef TS | e Y fafire Rl % am faflaw |

What is meaning of codification ? Write names of different method of
codification. ' (5+5)

TeABTH % HRUT THATET |

Explain the causes of depreciation.

T FIeR Th SHad 1980 1 ¥ 45,000 %1 @le T 399 i o e #
% 7,000 T BT | 31 fq@war, 2000 1 o SRR H 79 areR I e R
T | Af ST T IR T 15,000 B, 6 SiFeR H FEHRA g e @ iy
| FTER ?

A boiler was purchased for ¥ 45,000 on 1% Jan, 1980, the erection and installation

- work cost ¥ 7,000. The boiler was replaced by a new one on 31 Dec. 2000. If the

scrap value was estimated as ¥ 15,000, what should be the rate of depreciation by
straight line method ? : : (5+5)
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(i) TATe 3 T T ! NHIRI O AT S b 1 e |

Write name of factors affecting plant location.

s Rgelly T aTeft e &1 ¥ 2019 %1 Wil IeqTe &1 faaw f= 2

6.

(ii)

figeitt <t mrfes |

T A1 hi Hid

yfe 318 anfifes @ AFTa
AT 39F HET
Fifrehaw 39 9=
AT ITI HAT

G FETTaty
Calculate the following :
(a) IH:ACH WA

(b) TH: 3T &R

(c) —IAaH TR &hY

(d) ferepan TR =Y

(o) 3Hd Y WX

(11 of 12)

1046

1000 T

2100

T15

50 3eTs Sid THTE

75 TS Scl THTE

25 3T wfer THTE -
49 6 99TE

Monthly data of a production company for the year 2019 is as follows :

Monthly demand of toys
Cost of placing an order
Annual Carrying Cost per unit
Normal usages

Maximum usages
Minimum usages
Re-order period

Calculate the following :
(a) Re-order Quantity
(b) Re-order Level

(¢) Minimum Level

(d) Maximum Level

(e) Average Stock Level

1000 units

T 100

T 15

50 units per week
75 units per week
25 units per week

4 to 6 weeks

(5+5)

P.T.O.
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7. () Tt srers 6 wfsman gaemeo |
Explain procedure of method study.
(i) Toreran e it faftrat gmemsg | |
What methods are used for quality control ? (5+5)

8. (i) Taftr= e =mé 3 wbril & am fftaw | foreft weh 7é =1 oy wfe wemmsw |

Write various names of control charts. Explain any one with figure.

(ii)  efiepd TOTERI W S TUHTIT |
Explairi accepted quality level. (5+5)

9. = w aflre feogoft ferfiam -
Write short note on the following :
(i) wHazd
Conveyors
(i) greE fiig
Reorder point
(iii) TroTere faaEo

Quality control (3+3+4)  —




